Consolidation work 39 Second Level ***

1.  11.67 + 8.58 + 7.5

2.  5478 x 8

3.  64 000/80

4.  The frames of a pair of glasses normally cost £52. In a sale there is 25% off the price of the frames. How much cheaper is the sale price? 

5.  A rugby team records a total of 576 points during the season. 5/9 of the points were scored from tries. How many points were scored from tries? 

6.  Write 0.15 as a fraction in its simplest form. 

7.  35g = ___Kg?

8.  A car is 400cm long. A scale model is made using a scale of 1cm:20cm. What is the length of the scale drawing?

9.  Simplify 18:144

10.  It costs £89 for 100 books. How much for each book?

11.  Round 3567.73 to the nearest hundred.

12.  c = 3n + 7. What is the value of c when n = 5?

13.  Write the missing angle in this right angle: 44 degrees and ?

14.  Joe’s marks in three tests were: 78, 76 and 74. Mary’s marks were: 72, 84 and 74. How did Joe’s average (mean) mark compare with Mary’s average mark?

15.  A rectangle has an area of 24cm squared. The length is 8cm. Find the breadth of the rectangle.

16.  Order from biggest to smallest: 9/12, 1/5, 5/10, 20/1000, 3/100, 60/1000

17.  Which numbers are not prime numbers?  2,  11,  18,  27,  31

18. 7856 – 2009

19.  12 675 + 1455
20.  Find the volume of a cuboid when: l = 0.06m, b = 2cm and h = 7cm 
